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=) 47 (1,508,500,0009¥) - 718 (0®) = 1,508,500
) 47 (1,508,500,0009) - 7|18 (0®) = 1,508,500
O FEX|F A2 SteX2[AlE HXAY 150,000
) 478 (201,423,0008) - 7|78 (51,423,0008) = 150,000
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[ FEAER ]

ZEOOAHEAXIE EE3)FERMFS MEE3HTEE F:401)A|EH|HELCHH]
1 =2
o5 o arey |7 %
= -1 Y U - off Ak oM
OZIELNEX| T StrRt2 AMPIA 600,000
e % (600,000,0008) - 7| (0% = 600,000
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IAEE ; 2021EHE

oA FH3k

721 &
32 SEE B oparar Ay < i
(A) (A - B)
(B)
T = (A) 27,104,795 23,332,034 3,772,761
A 1,319,059 1,319,059 0
Rpupatl AtgETY 1,070,059 1,070,059 0
7|EfE L 249,000 249,000 0
A 9,929,674 9,937,674 A 8000
O|Xt=< 85,000 85,000 0
el
Elz[AH S+ 9,834,674 9,852,674 A 18,000
7|EfE el 10,000 0 10,000
A 10,786,541 6,377,600 4,408,941
AEUFTY EIS|AAEExZ42 10,486,541 6,077,600 4,408,941
SAEEFTY 300,000 300,000 0
A 5,069,521 5,697,701 A 628,180
FEXF
=MALZ 5,069,521 5,697,701 A 628,180
x| X & (B) 27,104,795 23,332,034 3,772,761
A 11,158,733 11,166,733 28,000
2HH] 5,034,000 5,034,000 0
AH|E
HNE| =] 5,563,240 5,581,240 A 18,000
U] 561,493 551,493 10,000
A 90,000 90,000 0
oflH[H|
of|H|H] 90,000 90,000 0
A 15,056,062 11,275,301 3,780,761
EX| 13,761 0 13,761
FERRFS
5= 11,526,901 7,759,901 3,767,000
7| AEK| 3,515,400 3,515,400 0
A 700,000 700,000 0
7|EfXEAX|E
MEgARD digt 700,000 700,000 0
A 100,000 100,000 0
old|H|
of|H|H] 100,000 100,000 0
X A (A-B) 0 0 0
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